
SAP ABAP table VVKK_COINS_BASIC {Transactions Posting Coinsurance Shares}

VVKK_COINS_BASIC

MANDT [CLNT (3)]

HVORG_PREMIUM [CHAR (4)]

TVORG_PREMIUM [CHAR (4)]

HVORG_CLAIM [CHAR (4)]

TVORG_CLAIM [CHAR (4)]

HVORG_COST [CHAR (4)]

TVORG_COST [CHAR (4)]

HVORG_COSTCLAIM [CHAR (4)]

TVORG_COSTCLAIM [CHAR (4)]

HVORG_COST2 [CHAR (4)]

TVORG_COST2 [CHAR (4)]

HVORG_COSTCLAIM2 [CHAR (4)]

TVORG_COSTCLAIM2 [CHAR (4)]

TFKHVO

MANDT [CLNT (3)]

APPLK [CHAR (1)]

HVORG [CHAR (4)]

 VVKK_COINS_BASIC-HVORG_CLAIM = TFKHVO-HVORG 

0..N

0..N

 VVKK_COINS_BASIC-HVORG_COST = TFKHVO-HVORG 

0..N0..N
 VVKK_COINS_BASIC-HVORG_COST2 = TFKHVO-HVORG 

0..N

0..N  VVKK_COINS_BASIC-HVORG_COSTCLAIM = TFKHVO-HVORG 
0..N

0..N
 VVKK_COINS_BASIC-HVORG_COSTCLAIM2 = TFKHVO-HVORG 0..N

0..N  VVKK_COINS_BASIC-HVORG_PREMIUM = TFKHVO-HVORG 

0..N

0..N

TFKTVO

MANDT [CLNT (3)]

APPLK [CHAR (1)]

HVORG [CHAR (4)]

TVORG [CHAR (4)]

 VVKK_COINS_BASIC-TVORG_CLAIM = TFKTVO-TVORG 

0..N

0..N

 VVKK_COINS_BASIC-TVORG_COST = TFKTVO-TVORG 

0..N

0..N

 VVKK_COINS_BASIC-TVORG_COST2 = TFKTVO-TVORG 

0..N

0..N

 VVKK_COINS_BASIC-TVORG_COSTCLAIM = TFKTVO-TVORG 
0..N

0..N

 VVKK_COINS_BASIC-TVORG_COSTCLAIM2 = TFKTVO-TVORG 0..N

0..N

 VVKK_COINS_BASIC-TVORG_PREMIUM = TFKTVO-TVORG 

0..N

0..N


